## S & K Dirtworks, LLC

1923 Pinewoods Dr. Rogers, AR 72758

ro	je	ct	Qu	ote
	ro	roje	roject	roject Qu

Date	Quote#	
5/10/2019	019-030	

Name / Address	
Bader Homes, LLC P.O. Box 9424 Fayetteville, AR 72703	

Project

Morsani Acres - Offs...

Description	Qty	Cost	Total
8" PVC C900 DR-14 Water Main	1,277	38.00	48,526.00
SB-2 Backfill under street	25		125.00
Ex. Drive Way repair	4	400.00	1,600.00
Ex. Pavement Repair	10		140.00
8" 90° Bend	2	450.00	900.00
8" 45° Bend	3	450.00	1,350.00
8" 22.5° Bend	2	450.00	900.00
8" Valve	1	1,500.00	1,500.00
8"x8" Tapping Sleeve & Saddle	1	3,000.00	3,000.00
Fire Hydrant Assemblies	1	3,900.00	3,900.00
Tap existing 8" water line	1	1,500.00	1,500.00
Revegatation	1	2,100.00	2,100.00
-		Total	\$65,541.00

Signature	
-----------	--

Phone # 479-631-7400

## **James Clark**

From: Michael Bader <michaelbader21@yahoo.com>

**Sent:** Monday, May 20, 2019 1:44 PM **To:** James Geurtz; James Clark

**Subject:** Fw: Offsite Water Line engineering

Here is the engineering cost from James Guertz. Let me know if you need anything else!

## Michael.

Currently we have \$6022.50 towards the offsite engineering.

That breaks down to:

- Survey cost \$1,437.50
  - Includes topo
  - Utility locates as located by the One Call request
- Engineering \$4,585.00
  - o Includes Engineering / plan creation
  - Easement creation

I anticipate some additional charges for As-Builts and Observation cost.

Taking the standard 10% cost of construction (\$65,541) for engineering fees gives of \$6,554.10. I estimate the remaining \$531.60 will cover the As-Built and Observations cost, barring some unforeseen cost overrun on observation due to issues in the field.

So I would recommend cost sharing the \$6,554.10 cost.

Thanks,

James R. Geurtz PE, CFM



134 West Emma Ave. Springdale, AR 72764 P 479-756-1266 F 479-755-3570 www.eda-pa.com

## § 51.01 WATER LINE EXTENSIONS AND HOOKUPS.

- (A) For purposes of this section, the word **UNIT** shall be defined as one water meter used by the city for the purpose of calculating water usage. One water meter shall be considered one unit, regardless of the size of the meter or the water capacity it is designed to measure.
- (B) Whenever a request is made to the city for the extension of a water line and such request is granted, any person connecting to the water line within the first five years of its completion shall pay a pro-rata share of the cost incurred for extending the line, based on the total number of units that have and/or may connect to the water line at the time the connection is made, including the number of units for those persons requesting the connection. The number of units to be used in the calculation shall consist of those units which have already connected to the water line, if any, plus the number of units that may connect to a water line. Units need not be operational to be used in the calculation, if it can be determined how many units may connect to the water line based upon any building permit(s) of record at the time the connection is made.
- (C) The city shall not receive in connection fees, as set forth above, more than 100% of the cost incurred for the installation and/or extension of any water line.
- (D) Any person who connects to an extended water line more than five years after completion of the project shall not be subject to any pro-rating of costs as set forth in division (B) above, but shall pay according to the hook-up and meter fees which are in effect at that time.
- (E) The city is vested with full discretion regarding whether a request for the extension of a water line should be granted. In addition, the city reserves the right to determine what portion of the cost, if any, it wishes to bear for the extension of any such water lines.
- (F) Any person wishing to connect to a water line as set forth in this section shall pay for the cost of same by remitting payment to the Water Department of the city at the time the connection is requested.

(Ord. 2014-11-484, passed 11-4-14)